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SECTION - A (@S &)

1. (a) Income of the previous year is chargeable to tax in the immediate following
assessment year. Is there any exception to this rule ? Discuss.

(b) How will you determine the residential status of an individual ?

(c) Mr. A is resident but not ordinarily resident in India, age 62 years, earned
a net agricultural income of Rs. 4,00,000/- during the previous year 2012-
13. Compute his tax liabilities assuming that he has non-agricultural income
of Rs. 8,50,000/- and he contributes Rs. 90,000/- towards Public Provident
Fund. (5+5+5)
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OR

(a) Who is an ‘assessee’ under 2(7) of Income Tax Act, 1961.

(b) Mrs. Y is a foreign citizen. Her grand mother was born in Karachi on 15"
August, 1940. She came to India for the first time on 3 November, 2012
for a period of 200 days. Her income for the previous year 2012-13 is as

under :—
(i) Income earned in Bangladesh but received in India  Rs. 4,40,000/-
(i) Income earned and received outside India Rs. 5,60,000/-

(iii) Royalty received in Germany from a resident of
India for Technical services provided for a business
carried on in Germany Rs. 1,00,000/-

(iv) Agricultural income in Sri Lanka Rs. 5,00,000/-

(v) Dividend from Indian Company received in
Pakistan Rs. 80,000/-

(vi) Profits of a business carried on in Pakistan but
controlled from India Rs. 2,00,000/-
(Out of which Rs. 50,000/- received in India)

(c) Briefly explain the provisions relating to segregation of ‘agricultural income”
from ‘non-agricultural income’ in the case of an assesee engaged in the
business of growing and manufacturing Tea and Coffee. (5+5+5)

() fioe ad 9t s Iuh dehial o8 & oo af § 7 9 E B @ 1w 59 faw
T W Juae 8 7 fage @i

(@) s fdt =fem A smarfees wRufa @1 Pk fFe yvR =@ 7

(1) 62 =i s A 9IRS w1 R @ WY et 9k ¥ I8 AR w8 2 1 sad fiod ad
2012-13 ¥ 4,00,000/- & &t e FN s AT 9t 1 g8 A= fF Iqa |
FHa I 8,50,000/- 7 3R 98 ANk wfasg Ry vz F 90,000/- & T AR T
2, a1 IR AN 1 IRaver g |
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(@) mae s, 1961 9% 2(7) @ e ‘PR’ ® a2 7
(®|) MYwﬁ%ﬁﬁwﬁm%nwﬁaﬁwaﬂrwmi%oaﬁmﬁ@n

AT 1 98 3 [ER, 2012 & 200 A & fog vt 9R Wk 3 1 fOsa af 2012-
13 &1 IgaY 39 39 YER & -

(i) wivemew A sfvta frg vk o o s - 4,40,000/- &
(i) e ¥ W= IRt R W 5,60,000/- <.
(iii) R ¥ v @ waEE & forw & 1 qEeat Jars

& fog wra & Fad } wF A o @l (Ja) 1,00,000 &
(iv) Sierem ¥ i 3w 5,00,000 &
(v) wIRm wat @ anne g i F ura 80,000 .
(vi) s ¥ Frafa g ofeae § @@ ® =eaa 9

o (Rt 50,000/- & sRa & 9 §) 2,00,000 .

(1) =@ 3k @ I ik P T @ e § @ FiRd @ e § i s
S K g o’ R R F Fa ¥ I B ¥ e AR

SECTION - B (WS @)

2. Zis an individual (100% visually impaired). He is a working as a manager in a
company at Mumbai. He has furnished the following details of his income for the
year ended 31% March, 2013.

Rs.
(i) Basic Salary 50,000/- p.m.
(i) Dearness Allowance , 10,000/- p.m.
(50% forms part of salary for retirement purpose)
(i) Commission 5,000/- p.m.
(iv) Entertainment Allowance 2,500/- p.m.
(v) Transport Allowance 2,000/- p.m.

(Expenditure incurred on commuting between
office and residence Rs. 500/- only)

PT.O.
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(vi) Employer company provided him with an accommodation free of rent for

which the company paid rent of Rs. 10,000 p.m

(vi) His employer provided him an interest free loan of Rs. 20,000 to purchase

one LCD.
(viii) Company paid professional tax of Rs. 2,000 on his behalf.

(ix) Company contributed Rs. 8,000 per month towards his recognized PF A/C

to which he made a matching contribution.

(x) Rs. 52,000 was credited to the aforesaid PF A/C during 2012-13 @ 13%

per annum by way of interest.
(xi) Received Rs. 30,000 as a share of profit from a partnership firm.
(xii) Received a dividend of Rs. 5,000 from RIL, an Indian company.

(xiii) He paid LIC premium on the life of his married daughter; Rs. 30,000. (Sum
assured Rs. 1,00,000)

(xiv) Donation to Prime Minister’s National Relief Fund; Rs. 20,000.
(xv) Donation paid to Govt. of India for promotion of Family Planning; Rs. 50,000.
(xvi) Paid medical insurance premium on his wife’s health; Rs. 25,000.

Compute the total income and tax liability of Z for the assessment year
2013-14. (15)

OR

(@) X is a manager working with B Ltd. He retired from A Ltd on 30 April.
1980 (salary at the time of retirement Rs. 2,600) and received Rs. 22,000
as gratuity of which Rs. 20,000 was exempt under Sec 10(10)(iii). Finally,
he retired from B Ltd on December 31, 2012 after 32 years and 8 months
of service and received Rs. 4,00,000 as gratuity. His other particulars are as

follows :

—— e
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|
| (i) His average basic salary for the preceding 10 months ending on 31+
\ December, 2012 is Rs. 18,200 per month.

| (i) Received Rs. 1,000 per months as DA since 1-1-2011 (80% forms

part of salary for retirement benefits).

(1) 6% commission on sales turnover of Rs. 2,00,000 achieved by him

during the proceeding 10 months ending on 31 Dec. 2012.

Determine the amount of taxable gratuity, assuming that he is not covered by

Payment of Gratuity Act 1972 for the assessment year 2013-14.

(b) How would you find out taxable value of the following perquisites ?

(1) Sale of moveable asset by the employer to his employee/member of

his household at a nominal price

(i) Education facility to employee’s family members

(c) Explain the provisions relating to tax treatment of House Rent Allowance

u/s 10 (13 A). (5+5+5)

Z T af (100% gfteanfora) 2 1 a8 Hag ot v O § geud & AR R B W
W2 1369 31 91 2013 =) aRea ad & foiw 3wt s o feaferfas faawer fean

(i) e daT 50,000/~ W W=

(i) wewmg W= 10,000/- Wi =1\
(50% JarfAgfa wae= ¥ 9T A A 2)

(iii) AT 5,000/- S ¥

(iv) R sren 2,500/- wfr @

(v) @ s 2,000/- wfy @

(w3 e & S = - o ¥ fen @@= 500/- A=)

|
j PTO.
|
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(vi) Flfrar o 4 3 froar Wa saw wem e e femn @@ F
10,000/- & wi&en THrAT |

(vii) @ Faiear ¥ 3/ LCD @i & fow 20,000 = o1 =arema =20 e |
(viil) o = JEt SR A 2,000 % ghaew T e o

(ix) @ 7 vfa @ Igh A g e e '@ F 8000/- = @ AR R
o SgA sUeR 1 AR TR

(x) SWwa wawRr @@ ¥ 202-B3F B affF A R I TG & & A
52,000/- & S g |

(xi) wwﬁﬁzﬁtﬁﬁ%m%ﬂm%?ﬁ?msopoo/—ﬁm@l
(xii) TF RA wE RIL ¥ 5,000 T T AAA W G

(xiii) I& o=t faanfEar T & ST W 30,000 & @ LICWRm™ (| afdr 1,00,000
%) fear

(xiv) WeFEE TS e i ¥ ¥ @9 20,000 T
(xv) dRar FReE & = & foo e &R & @ a9 50,000 =
(xvi) IR 9N & T & dau A Rfeeear S Wi st fRan: 25,000 ®

I | I I Fuie af 2013-14 B e It R aar w Repe R |
et

() X, B fafids ¥ =m & aren yaus 2 1 98 30 3 1980 % A fafies & Jafga
(Fafgfa & awa Iadt IaT 2600 T ) FIN 3N I& ITSE At AR 22,000 & W
i s | 20,000 & W grRT 10(10)(iii) & T8 S A 1 e, 98 32 9§ 3k
8 W @i a1 & =T w31, 2012 =i B fafids @ Jafaw 53w 3k 4,00,000
I D WA W §U | Iaa I fafafedi 3@ ywr @ -

(i) 31 RE=w, 2012 & T B art @adt 10 e o1 It aﬁmwlaaaw
18,200 & #1féa 2 1
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3. (a)

7

(i) S® 1-1-2011 ¥ 1,000 T ¥R FEME ST (ITA 80% JarHghs o &
fore Qo =1 st ) Fiem

(iii) 31 RE=, 2012 7% TG B9 a gdadl 10 98 @ SR/ 2,00,000 & D
foit smad W 6% TR AT FI 1

e AER o 98 I1ER e sffEE, 1972 & siadta w8t sman, e o 2013-
14 & fog 398 & dg IweM &t TfEr @ Rukor Sk
s fFrffae aRaferl & o= v I @ 9 P WA ?
(i) FraleD s/ IO AR /38D R F GG Fl AREE B W S
qReqfa =1 faea
(i) FTd & 9RaR & Fe=n @ e gfq

g 10(13A) & T50 A R s & 9 FAGER & e A IuSEl il wee
EIE

A owns a property at Ghaziabad (Municipal value: Rs. 1,90,000, Fair rent :
Rs. 2,04,000, Standard rent : 1,85,000). The house is let out upto Feb. 28,
2013 at a monthly rent of Rs. 18,500.

From March 1, 2013, the property is self-occupied for own residence.

Expenses incurred by A are as follows :
Municipal Taxes : Rs. 10,000 ( half of it was paid by tenant)
Repairs : Rs. 20,000

Fire Insurance premium : Rs. 5,000

Interest on capital borrowed for acquiring the property : Rs. 1,80,000.
Assuming that income of A from other sources is Rs. 4,50,000, find out the
net income of A for the assessment year 2013-14. Does it make any difference

if the property is let out upto Feb. 28, 2013 @ Rs. 16,500 per month ?
(10)

PTO.
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(a)

(b)

Define Capital Asset u/s 2 (14). %)
OR

Mr. A purchased a house on July 1, 1978 for Rs. 90,000. He had to pay

Rs. 2,000 as brokerage to real estate agent for arranging the deal and

~ Rs. 8,000 as Registration charges. He gifted his house to his son B on Sept.

15, 1985. The following capital expenditure were incurred by A and B in

respect of the aforesaid house :

Addition of two rooms by A during 1979-80 Rs. 50,000

Addition of first floor by A during 1984-85 Rs. 1,00,000
Addition of Second floor by B during 1990-91 Rs. 1,50,000
Fair market value of house on April 1, 1981 Rs. 1,25,000.

B transferred it to Z for Rs. 52,00,000 on Nov. 15, 2012. B had to pay
brokerage @ 1% for arranging this deal.

B purchased a residential plot for Rs. 10,00,000 on June 25, 2013 and
deposited Rs. 15,00,000 with SBI under ‘Capital Gain Deposit Account
Scheme’. Advise by which date, he must utilize this amount by constructing
a house on the aforesaid plot in order to avoid withdrawal of exemption

claimed u/s 54.

Cost Inflation Index for the relevant financial years are as follows :

Financial year ~ 1981-82  1984-85 1985-86  1990-91 - 2012-13
ClI 100 125 133 182 852
(10)

While computing the income under the head ¢ income from house property’,

what deductions are allowed from the annual value (U/S 24) ? %)
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() A miaee ¥ v wafa (FIRaferdt 99 ¢ 1,90,000 <, SFa fmar : 2,04,000

¥, A fohaar @ 1,85,000 € ) I wifers @ 1 FRE @ 18,500 T & wieE R
R A 28, 2013 o e w Rar w1 1 W =, 2013 A 39 1AM & fow 9w
Hafa W AT A 21 A a1 e v @ 3@ uER ¥

RAIfcreRt X : 10,000 & (3@ en foRder gw fear )

1A 20,000 ®

JiftT <o @R : 5,000 ®

e Afora &t & forg Jum o 1€ 9ol W = - 1,80,000 ® 1 98 AFER & o
I 4 A 3 4,50,000 T B, Frefwor af 2013-14 & fow A & faggy sm W@

FT | o 39 OF A R W AR TRy wad 28, 2013 9F 16,500/ %
e 9 X A o WA o 2

(@) ar 2(14) & T8d YOG SnRa @t IR g

Jerar

(F) AT 1 e, 1978 7 90,000 & A T FHM WA | I Il TR Vele @t

FHFER T WL HA & 17 2,000 T 3R 8,000 T ATEIHRU TR & I 0 | Fa
15 fder 1985 =t 391 wEH U TF B A IBR A ¢ | I wowe &

qaa A A 3R B 7 el oon = o :

1979-80 % A 3R JIfaRe & R sHaQ 50,000 &
1984-85 F A BRT W T SaR I 1,00,000 &
1990-91 ﬁ B BN fa&dia da s=amn @ 1,50,000 &
1 38, 1981 wl w1 IR IR AT 1,25,000 =

B 7 15 Fa=, 2012 ' 52,00,000 & ¥ Z & ¥ ke o 30 | 9oqaesr &
TSI A @ folg B @l 1% @ & ¥ Sl ot 98 |

B ¥ 25 S, 2013 S 10,00,000 % 1 T @M Wi @der R SBI &t ‘Iont
ST TR | A @ 98d 15,00,000 © ST G | S8 aare A R ar
54 & dEq 1 9 TE T @ A o I @ T & o Swda wile W AEH
= i e 28 iy @ Iw fee fafy T w7

PTO.
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i facig anl @ o e ey g 59 TER B
fa<ig a9 1981-82 1984-85 1985-86 1990-91 2012-13

AR i gaHih 100 125 133 182 852
(@) 5 wufa @ W @’ MY & 959 30F w1 IR T TG UR 24 F T8 qh
T ¥ N welfadl A § 7

SECTION C (@g )

4. X and Y are two partners (1:2) of X Co. a firm engaged in manufacturing
chemicals. The Profit and Loss account of the firm for the year ending 31.3.2013

is as follows :

Rs. Rs.
Cost of goods sold 48,00,000 Sales 69,00,000
Salary to Staff 8,89,800 Long-term-Capital gains 69,000
Depreciation 80,000 Other Business receipts 31,000
Remuneration to partners |
X 3,00,000
Y 2,40,000
Interest on Capital to
partners @ 18% per annum
X 1,36,000
Y 54,200
Other expenses 3,70,000
Net Profit _ 1,30,000

70,00,000 70,00,000
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Additional information furnished by the Firm :

(1) The firm completed all legal formalities to get the status of “firm”.

(1) The firm has given donation of Rs. 80,000 to a notified public charitable

trust which is included in other expenses.

(i) Salary and interest is paid to partners as per the partnership deed.

(iv) Depreciation allowable u/s 32 is Rs. 78,000.

(v) Both opening and closing stock amounting to Rs. 81,000 and 90,000

respectively are under valued by 10%.

(vi) Income and Investment of X and Y are as follows :

X

Rs.
Interest on Company Deposit 64,000
Dividend from Foreign Companies 7,000
Long-term Capital Gains 80,000
Short-term Capital Gains 3,000
Winnings from lotteries (Gross) 4,000
Contribution towards Home Loan A/c
of the National Housing Bank 40,000

Y
Rs.

50,800
11,000
20,000
(-) 6.000

10,000

60,000

Find out the Net Income and Tax Liability of the Firm and Partners for the

AY. 2013-14

OR

(15)

(a) X Ltd. is engaged in the business of carriage of goods. On April 1, 2012,

it owns 10 trucks (4 out of which are “heavy goods vehicle”). On May,

6, 2012 one of the heavy goods vehicles is sold by X Ltd. to purchase

PTO.
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(b)

(©)

12

a light goods vehicie on May 11, 2012 which is put to use only from
June 1, 2012.

X Ltd. Furnishes the following other information :

Rs.
Freight collected 8,90,000
Less:
Operational expenses 6,40,000
Depreciation as per section 32 1,90,000
Other office expenses 15,000
Net Profit 45,000

Other business/non-business income 6,70,000

The assessing officer wants to assess its income under the presumptive
provisions of Section 44 AE. In view of this claim, compute the taxable

income of X Ltd for the assessment year 2013-14.

Discuss the provisions of section 43-B regarding certain expenditures allowed

on actual payment basis only.

X Ltd 1s having two Machines A & B (Depreciation rate 15%, Depreciated
value of the block on 1-4-2012 Rs. 9,00,000). On June 1 2012, it
purchased an old Machine C (depreciation rate: 15%) for Rs. 1,00,000. On
Nov 1 2012, Machine A was transferred for Rs. 30,000. Machine B was
transferred for Rs. 20,000 on Dec 1 2012 and C was transferred for
Rs. 25,000 on Jan 1 2013. Expenditure on transfer on these machines was
Rs. 2000.

Compute the amount of admissible depreciation/capital gain for the assessment
year 2013-14. (5+5+5)
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X 3R Y @ftrema o F w6t w5 X o6 F o wier & (1:2) & 1 31.3.2013 e a8
& e W 1 ani-wi @ 59 YR 2

< ®

T MW AT H AN 48,00,000 fasa 69,00,000
FHAA T B AT 8,89,800 Srdmiforan golt eI 69,000
LK 80,000 3= =EERAE Wit 31,000
WieRl @ it
X 3,00,000
Y 2,40,000
18% aiffer &t ® | wRERI
T Y9 W
X 1,36,000
Y 54,200
I @ 3,70,000
g A 1,30,000

70,00,000 | 70,00,000

W g @ S afRed g9 39 YR © -

(i) W i T D o wE T el Al e 5@ w2

(i) wF ¥ v sRERE T = F 80,000 T W A R W s @t ¥ W
R

(ii) ¥rieR foeE & IER YRR =t A5 IR = et forar o 2

(iv) owr 32 & @&d 78,006*6.1?&%3@3!6%1

(v) e 81,000 & 3R 90,000 T =T IRFH 3 o Wi & 10% awea forar
ER

PTO.
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(vi) X 3R Y &t 3ma 3k faw =@ v 2

HEN T W ST

faedt wafal &

Ao gut AT
JFeqehticrn qolt AR

Wil § S WS A (Aw)

AT TSR 4% ® ARA W W@ A AR

X
3

64,000

7,000

80,000

3,000
4,000

40,000

Y
T..

50,800
11,000
20,000
(=) 6.000
10,000

60,000

2013-14 frafor af & forg w3k RIGRN & gy 3 3R 9 3gan A T |

Itaar

(%) X fifies widt 959 & =A@ A W@ 2 1 1 30, 2012 =i 98 78 7ol (s A =R
“q AT AE” B) o Wierew 21 6 W 2012 W W WA T A A T AT X
fofiee g/ 11 %€, 2012 = 5o WA aeT H WA @ forg o A wn, Re

IR Had 1 9, 2012 N AR har

X fofiRs s fafafas gomr 2@ 2

A el qusl foear T
T :

R @~

U 32 & FER AIEE
I wEeE @

g A

~>

I TG /AIERER I

L

8,90,000

6,40,000
1,90,000

15,000

45,000

6,70,000
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5.

e feRd 9/ 44 AE & STURITTSE ISl & ded 399 3T & IReeT
FEA ArEA 2 1 T o g% X, Ltd. I af 2013-14 9 el 0@ w1 AR
FARW |

(@) @aa arafas 9ol SUR R §S JTAT @ & 994 § U 43-B & IJuael w6
e Aifre

() X ffids & 1@ A 3R B 3 78R ¥ (089 R 15%, 1.4.2012 9 =i o FA
firEe 9,00,000 ) 1 1 7 2012 =t I& vH TR WA C (08 R : 15%)
1,00,000 & ¥ @& | | TR 2012 F TR A, 30,000/ T & R siaka aw
& 2 | w9 B, 1 fdEsw 2012 1 20,000 T@ & forg siaRa o & 18 sk W=
C, 1 W& 2013 &l 25,000 T@ & fog Jfala o & 18 1| 37 w9 & a0 W
@ 2000 T A0

o af 2013-14 & fore wsa ToaeE /9on Sl A Ofd @ aReew i |

Write short notes on :
(i) Provision related to set off and carry forward of ‘unabsorbed depreciation’.
(i) Deduction in respect of medical insurance premium (Section 80 D).

(ili) Cases in which e-filling of income-tax return is mandatory. (5+5+5)

OR

(i) Briefly explain the provisions relating to set off and carry forward of losses

'under the head “income from house property.”

(ii) Write short note on deduction in respect of interest on loan taken for higher

education (Section 80 E).

(il)) Discuss the judgment delivered by the Supreme Court in the case of CIT Vs
Sheila Kaushish (1981). (5+5+5)

it oo fofaw : -
(i) ‘IFENRE FeaEE’ & qOR S SR S F A GEie Sy

PTO.
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(i) Ffrer S AfEm @ diu X SN (o 80D)

(i) ¥ wre e sreR faawh @t € - wEfi sfad 2
rerar

(i) ‘5wl ¥ smr’ M @ T BN 0 AoR FA AR ST T | Faferq Ioaell
=l 98T § W FHifY |

(i) S=x faten 39 fore @ w01 W AW F G A weR W Gl oo foRag
+ (4r1 80E)

(i) CIT == 3t HifdrE (1981) FFe & Ivaaw ~EeE 3R 2w v fola o1 fad=m
HINT 1

(8500)
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